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On account of sowing — yar amn

OVERVIEW

The X na states that for 2°2771 77221 Y01 one is liable for doing them on nN2w on
account (that they are a 7771n) of ¥y111. One implication of this ruling may be that
when one needs to be warned not to do a 1177, the witnesses warning him must
tell him under what 2 this 77210 is included.! maon discusses this issue.

= AN DIVN NTDINN MINNT 25987 JNOINI NN PN
One cannot prove from this X773 that it is necessary for the witnesses to warn

for transgressing a 71720, that it is forbidden because of its specific an -
33907 YT DIVN 1 NINN ONXT RIN ¥IT DIYN IMINND T98YW MNP NY NI4T

Since the X713 did not state that it is necessary to warn him (the 2°271 7°72») on
account of ¥91, but rather the X772 is saying that if they warned him on
account of Y117, he will be 2°7m.

mooIn cites a seemingly differing Xn3:
- AN DIVN NIDINN MINNT THINT NP YIVN (x,nsp mps) PIIN P9 W93 HaN

However from the X773 in the beginning of %30 P9 it seems somewhat that

there is a requirement to warn the 77790 on account of the ax -
= (5290 NAYY) 192 192909 NN OIVN *99UN 9INPT

For the X713 there asks, ‘On account of which 2X do we warn a a»w» (one who

is straining wine) (so he will be 7101 29m) -
= 4191 DIYN MIN X9 239 93 DIVN 9NIN NaY

1727 said on account of the 7oX%1 2X of 9712 (selecting); X2 '1 said on account of
7% (sifting) —

mooIn rejects this proof:
= 290 NAPY 172 1959900 NN DIVN IYITO 20T MNTH W N ON

! Otherwise why is it so important for the X3 to discuss here (and elsewhere) which 2x includes which m721n (is it
YT or yuN)?
2 See ‘Overview’ and footnote # 1.
3 moon seems to be saying that if a 2371 72n is warned that he is ¥ (without mentioning 2371 T72n) he will
be nin1 21, but he will also be 2711 if he is warned solely on account he is 7121 or 2237 (the 77210).
4 9nwn (straining wine from its sediments) is a 77210 which is forbidden on naw and he is liable for 70> 2vn. The
X3 there is (seemingly) asking, what is the 719871 ax of this “nwn 77710, for which we should warn him.
5> The 0"an deletes the words in the parenthesis.
¢ This seemingly proves that we need to warn each 2wn 77910 its 2x, and that is the np12nn between X1 ' 7127; for
if it is not necessary to be 7707 a 28 0Wn 7720, what are they arguing about; we can be 710 him that he is wn!
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And we can reject this as well, for this is the explanation there; the X713 asked;

on account of which 2X can we warn this 7nw», so that he will be 27 -
= VI TP OIVN 1 IIND ON Hax 999 0IYN 99N N9

7737 says 9712 2w (only), however if the warned him 7p9% 2w, he is 9D -
- 9109) 92 1YY K1Y 130 NN 1Y 11917 1KY 92T DIV 119NNIT 1%

For since they are warning him on account of something (77772) which is not
similar to "nwn (according to 727), the "nwn thinks that the 7v is mocking him,

so therefore he is 995, and the reverse is true for 1" -
= 8390 99YN YN 0NV 1 NINN ON YaN

However if the warned him simply; ‘do not be »w»’, he is 2%, for it is not
necessary to be 71nn a 28 QW 77N

moon offers support for his interpretation of the X713 in P2n:
— %19 YH9Y NNYY HNIIN 13939 DIV NN

And it seems that the "' also wants to explain the X713 there likewise.

mooIn offers an additional proof:
= 10aN DIPNA NIDINN 29NNT ITYION 22999 MINRP (3,2 97) NP N2 WII2T NN 1IN

And an additional proof; for in the beginning of p'"2 n>on the X713 asks, ‘and
according to X" who holds one liable if he transgresses a 77910 together with
its 2N -

- 1145995 1159 599 NPNY AN 1Y 997 ININ

Why is one called an 28 and why is the other called a 77790’ This concludes the

citation of that X773, M9oIN continues with his proof; if it is necessary to be a8 own 77210 70N -
$AN [DIVN] NIDINK MINNT TXI8T AR NPT 2P 19NT 193w Nn XY

So why did not the X723 answer, ‘this is the reason it is called an 2R, because
there is a requirement to be ;7702 the a8 29w» 7790,

SUMMARY
It is not necessary to be 77n» a a8 DWwn 77710, One may be 77nn a DWwn 77210 itself

7 See the Xm3 there why each one (1" 727) thinks that his 2x is the only correct 2x.
8 However if you are a8 0Wwn 71n» (instead of the 77910) it is fine, provided it is the correct a8. Otherwise he is WD,
because the person being warned thinks he is being mocked since what he is doing has no connection to that ax.
? See the "1 there who writes: 9712 W7 12 1907 AR 177 X2°HR 191,277 1K 7277 RO9X TP 2102 12 1707 XY T R5.
19 The o»on maintain that if one transgresses A2 an 2x, and together (77X 0%yn3) with this 2 he transgressed awa
one or more M7 of this A, he is 2°1 only one nXwvn
' The Xm3 there answers that the N1ax are the N1oX7» that were *2°wn 19wn2. See MooIN there.
12 The fact that the X3 did not offer this answer proves that indeed it is not necessary to be 77n» a a8 own» 77710!
See ‘Thinking it over’ # 1 & 2.
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or 1w a proper X, but not 21w another 2IX.

THINKING IT OVER

1. mooIn proves that it is not required to be 770 a a8 DWwn 77210, since the X3 did
use this as an answer why according to X"9, one is called an ax and the other is
called a 77n.13 However even according to msoin, why did not the X123 answer
the reason it is called an aX is because one is 217 only if he was warned for this
77910 on account of this ax, but not 21wn another ax?!!*

2. mooIn argues that since the X713 did not give the answer that we need to be 77nn
a Ak Dwn 7770, this proves that it is not required.!> However this proof is only
according to &"7, who maintains that you are 2R 0)p»2 772I0X 2111, meaning that a
7770 is an independent entity, so therefore he will also maintain that 2°3™X% X
2R OIP12 37NKR MINa°2, however the 7127 who maintain that one is not 7721X 2277
2R 1p»a, meaning that the 77710 is P02 to the 2, perhaps they maintain that 2°3™x
AR DWN 7798 MAnaR?! e

13 See footnote # 12.
14 See X"wAmn.
15 See footnote # 12.
16 See nnx now.
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